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TR = Cernox
PT =PT100
LC = Load Cell
SG = Strain Guage
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Set Excitation V1 or I1
different for each sensortype:  [€
TR _In, PT_In, SG_Vn and LC_Vn
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. TR_I2=In/2
Lo Save V1
Read V1 n=2
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R=(V1-V2)/(11-12) [«
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Convrt R to T using
lookup table
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¢ R=V1/11 <

Pdissipated
Pdis=1122 * R
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Find Plim based on T
T Plim
>=80K 1uW

10K-80K 0.1uW
<10K 0.01W

Convrt R to T using Convert V to Force
lookup table using lookup table

Strain Guage Vsense

Pdis>Plim?
OR
[1*R>30mV?
OR
V =0.052V.

FALSE

»| Align data to tag name

TRUE

TR 12=12 - 0.2%12 T




